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Pre Algebra Ch. 4 Group Review

1) Simplify each expression by Combining Like Terms. Show supporting work.
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2) Simplify the following expressions usi'ng_ the Distributive Property, then Combining Like Terms if possible.
a) 8(4m - >5n) b) 5(x+y—2z)
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3) According to a scale on a map, 1 inch = 16 miles. How many inches on the map would represent 24 miles?
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oy 4) Use the given figure in each of the following:

a) Write two algebraic expressuons for the PERIMETER of the algebra |
tiles.
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" b) Write two algebraic expressions for the AREA of the algebra tiles. One of your expressions should include
parentheses, while the second expression should not.
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5) Sifnplify each using Order of Operations
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6) Decide which expressions listed in “a —d” are equivalent to the expression below. Simplify the original
- expression AND each of the possible matches to show evidence of your choices. Circle your choice(s).
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7) Triangles XYZ and LMN are similar.
a) By what ratio was triangle XYZ enlarged by to create triangle

LMN? -
' o, . 7
/"‘ = Z-// /f\_/ . /*/

Ratio: <7 * | ol _3’ -

~ b) What is the ratio of the side lengths of triangle XYZ to triangle LMN? (This is the opposite of part a).

.Ratio:‘ , "A//

c) Calculate the length of the missing side of triangle LMN. Show your supporting work.

5:4=20

8) Each pair of figures below is similar. Identify the scale factor in each (from small figure to large figure), then
calculate the length of the unknown side(s) for each.

a) Scale Factor: »Z X: 18 y: Q{) b) Scale Factor: 25 X: 225

9) Steve thought of the foIIoWing steps in a number trick:

Think of a number, double it, add four and then multiply by five.

Let x represent the number in the trick above. Write the result of these four steps both as an expression with
parentheses and another expression without parentheses.

Pér_e..ntt;gsiesa‘ 5 QX * qv None: /O XY Z—O



10) Jeremy is building a birdhouse that is a scale model of his own house. If his house is 16 feet tall, and he
wants to build his birdhouse 24 inches tall, what scale should he use? The front door is 8 feet tall. How tall
should the door on the birdhouse be?

=215 8(1.5) =12

Scale Factor: 6 2- Birdhouse Door: ’ Z l ncl/pj

11) Jack’s car used 18 gallons of gasoline to go 468 miles. At that rate, how many gallons would be used to go

754 miles?
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12). Solve each of the following proportions for the variable. Check your solution (show that it works).
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13) Write a proportion to solve each problem.

a) A sweater that costs $30 is sold at a 20% discount. What is the sale price?
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b) The owner of a store buys calculators for $12. If she marks them up by 30%, at what price does she sell them?

newpne 130 X saliee 42 38
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" 14) Use the figure at the right to answer the following. *e e *e

*". f'a),CreateadiIation of the figure with a scale factor of 3:1. * & e
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b) Calculate the perimeter and the area of the original shape and your dilation.
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Perim (orig): /L/ Perim (new): '<7/,Z Area (orig): (0 Area (new): 5%

c) What is the ratio of the perimeters of the original to the dilation?

Ratio: 5\ ( 5(&\6 \Cﬁkmr)

d) What is the ratio of the areas of the original to the dilation?

i Z
Ratio: q ’ (3COLl€ %Cbr}




